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1. A commercial interface unit uses different names for the handshake lines associated with the transfer of data from the lIO device into the
interface unit.The interface input handshake line is labeled STS (strobe), and the interface output handshake line is labeled ISF (input buffer
full). A low-level signal on STSloads data from the 1/0 bus into the interface data register. A high-level signal on ISF indicates that the data
item has been accepted by the interface. ISF goes low after an lIO read signal from the CPUwhen it reads the contents of data register/*1
Ticari bir arayuz birimi G/<; cihazrndan arayuze verinin aktanrru HeIliskili el sikrsrna hatlan i~in farkh isimler kullanmaktadrr. Arayuzun giri~ el
sikrsrna haw STS(veri ham), ve ~Ikl~el sikrsma hatti ISF (giri~ tamponu dolu) olarak etiketlenmistir. STB'deki dusuk-seviyeli sinyal veriyi G/<;
yolundan arayuz veri kaydedicisine yuklernektedir. ISF'deki yuksek-seviyeli sinyal arayuzun veriyi aldlglnl gbstermektedir. Veri kaydedicisi
i~erigini MiS'nin G/<; okuma sinyali Heokumasi sonrasmda ISF dusuk seviyeye gitmektedir.

a. Draw a block diagram showing the CPU,the interface, and 1/0 device along with the pertinent interconnections between the three units. (16
points) 1*1 Mis, arayuz. ve G/<;:clhazrru aralanndaki qerekli baqlannlanyla gbsteren bir obek cizqeslni clzlnlz. (16 puan)
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b. Draw a timing diagram for the handshaking transfer. (16 points) 1*1 Elsrkrsrnahaktanrn icin zaman lama clzqeslnt clzlniz (16 puan)
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c. Obtain a sequence of events flowchart for the transfer from the device to the interface and from the interface to the CPU. (18 pOints)/*1
Cihazdan arayuze ve arayuzden islemciye aktanrn i~in srrah qerceklesen olaylann akis clzqeslnl elde ediniz. (18 puan)
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2.a. Why are the read and write control lines in a DMA controller bidirectional? (16 points) 1*1 DMA denetleyici okuma ve yazma denetim hatlan
neden iki yonludur? (16 puan)
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b. Under what condition and for what purpose are they used as inputs? (16 points)/*1 Bu hatlar hangi kosullar alunda ve ne arnada giri~ olarak
kullarulrnaktadrr? (16 puan)
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c. Under what condition and for what purpose are they used as outputs? (18 points)/*1 Bu hatlar hangi kosullar alnnda ve ne arnacla ~Ikl~
olarak kullarulrnaktadtr? (18 puan)
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3. Code an x64 assembly function to be called from a C++ program with FastCal1calling convention to returninteger average of four integer
numbers passed as arguments with the function protype given below. (15 points) 1*1 Bir C++ programdan asaqrda fonksiyon prototipi
verilen FastCal1~aglrma kurah ile ~agnldlglnda arguman olarak aktanlan dart tamsayrrun ortalarnasmjtamsayt olarak geri donduren bir
assembly dili proqrarm kodlayimz. (15 puan)

long IntegerAverage (long A, long 8, long C, long 0);
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